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|MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the
\question (3 502 £ B 257)
|

1) A research assistant who is working in a psychologist's laboratory learns the importance of keeping
'complete records of observations and data analyses. Such procedures are followed in order to

A) prevent other researchers from replicating a study.

'B) increase observer bias.

|C) increase objectivity.

D) increase subjectivity.

|

2) When carrying out an experiment, the factor that the researcher manipulates is known as

the  variable; the researcher measures the variable.

'A) dependent; independent

iB) independent; dependent

'C) dependent; dependent

D) independent; independent

!3) When planning a study, you determine that of the one hundred participants, fifty will have to be
!randomly assigned to the experimental condition and the other fifty to the control cond ition. The type
of experimental design you are using is known as a design.

'A) within-subjects

B) between-subjects

() single-subject

D) placebo control

4) You read in a health magazine that the more people drink and smoke, the greater the number of

emotional problems they have. This relationship illustrates 7

'A) a positive correlation.
B) a negative correlation.
C) cause and effect.

D) a zero correlation.

5) With respect to psychological measurement, when data are consistent or dependable they a
rereferred to as __, whereas the term means that the information that is produced
accurately measures the variable or quality that it is intended to measure.

A) reliable; valid

\B) consistent; reliable

C) reliable or valid; consistent

D) valid; reliable

|

|6) Imagine that you have agreed to participate in psychological research. Prior to the study, you will be
given information about what you can expect and other details of the research, and asked to sign a form
indicating your willingness to participate. This process is known as

A) debriefing.

B) intentional deception.

C) risk/gain assessment.

D) informed consent.
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7) Historically speaking, the case of Phineas P. Gage, a railroad worker who was injured in 1848, is
important because it provides the earliest documented evidence for a link between

A) verbal and motor behavior.

B) the brain and complex psychological processes.

C) intellectual faculties and equilibrium.

D) near-death experiences and motivation.

8) Broca's area in the brain is most closely associated with ?
A) memory.

B) physical movement.

C) language.

D) emotion.

9) A scientist is interested in identifying the patterns of brain activity that occur while a participant

reads. In order to do this the scientist is most likely to ?

A) make an EEG tracing of the brain while the participant reads.
B) electrically stimulate the brain.

C) produce a lesion in the part of the brain responsible for reading.
D) gather information from brain damaged patients.

10) The shows where different types of activity are occurring in the brain and involv es the
use of a safe radioactive substance that is given to participants.

A) electroencephalogram

B) fMRI

C) PET scan

D) MRI

11) The nervous system is subdivided into two major divisions: What are they?
A) central and peripheral

B) sympathetic and parasympathetic

C) somatic and autonomic

D) peripheral and somatic

12) In the brain, the and its surface layer, the , integrates sensory information,
coordinates your movements, and facilitates abstract thinking and reasoning.

A) cerebral cortex; cerebrum

B) cerebellum; cerebral cortex

C) cerebrum; cerebral cortex

D) cerebral cortex; cerebellum

13) While going for the ball in the soccer league championship, a player slips and hits the back of his
head so hard that he "sees stars.” Which lobe of the brain was stimulated when he hit his head?

A) parietal

B) temporal

C) frontal

D) occipital
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14) A patient has no difficulty understanding what you say to her, but finds it impossible to produce
words to convey her understanding. It is possible that either the motor cortex has been damaged or it is

not receiving messages from ?

A) the visual cortex.
B) the angular gyrus.
C) Wernicke's area.
D) Broca's area.

15) In the brain, the serves as a relay station between the endocrine system and the central
nervous system.

A) hypothalamus

B) thalamus

C) hippocampus

D) cerebral cortex

16) The operational definition of the absolute threshold is the stimulus level at which a sensory signal
is ?

A) presented.

B) detected all of the time.

C) detected.
D) detected half the time.

17) Rods operate best in ; cones operate best in
A) bright light; near darkness

B) bright light; bright light

C) near darkness; near darkness

D) near darkness; bright light

18) The pitch of sound is determined by its ; the loudness of sound is determined by its

A) loudness; pitch

B) intensity; amplitude
C) frequency; amplitude
D) amplitude; frequency

19) It's a beautiful day, with just a few clouds in a deep blue sky. The fact that the clouds look closer to
you than the sky is an example of

A) color afterimages.

B) change blindness.

C) the law of proximity.

D) figure and ground.

20) When grading the exam, the experienced teacher had few problems reading the student's sloppy
handwriting because she had asked this question before and knew in advance what the student was

likely to write. This example shows most clearly the importance of ?
A) bottom-up processing.

B) top-down processing.

C) data-driven processing.

D) phonemic restoration.
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21) The fact that people automatically use the context to help decide between different meani ngs of

ambiguous words in sentences supports the idea that ?

A) Freud's concept of repression is valid.

B) language processes are not capable of being consciously influenced.

C) rational beings have access to all of the activities of their own minds.

D) processes that operate below the level of consciousness can affect behavior.

22) People have about periods of REM sleep each night, and these periods in length
with each sleep cycle.

A) ten; increase

B) four to six; decrease

C) four to six; increase

D) ten; decrease

23) Most of a person's sleep time is spent ?
A) in REM sleep.

B) in paradoxical sleep.

C) in NREM sleep.

D) dreaming,.

24) Explanations of why sleep evolved include all of the following EXCEPT that it ?

A) enabled animals to conserve energy.

B) helped the brain to restore brain chemicals such as neurotransmitters.
C) enabled the body to restore itself.

D) served as a method for maintaining body heat.

25) A man has problems sleeping. He rarely falls asleep quickly, is frequently aroused during sleep, and
wakens too early in the morning. It is most likely that the man is suffering from 7

A) insomnia.

B) sleep apnea.
C) narcolepsy.
D) nightmares.

26) John has identified his problems and seriously thinking about changing it. John
experienced

A) precontemplation

B) contemplation

C) preparation

D) action

27) Mary did not want their friends’ support, however, her friend provide many suggestions. The social
support of Mary belongs to

A) support omission

B) null support

C) support commission

D) support conflict

28) All of the following disorders belong to anxiety disorder in the DSM-5, EXCEPT for which one?
A) phobias
B) panic
C) hoarding disorder
D) generalizing anxiety disorder
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29) Which of the following description belong to General adaptation syndrome of stress response ?
A) the stress response that only for adults

B) resistance phase usually triggers the fight or flight response

C) alarm phase is the second phase

D) alarm phase usually triggers the fight or flight response

30) According to the Piaget perspective, child could reason abstractly because of the ability of
f’

!A) concrete operations
‘B) formal operations
|C) imitation

!D) symbolic play

31) Research showing that there are pleasure centers in the brain has been cited in support of the
- _theory of emotions.

A) Cannon-Bard

B) James-Lange

C) Schachter-Singer

(D) Ekman

32) The greatest threat to cognitive abilities in late adulthood is disease.
'A) Alzheimer’s

|B) Diabetes

/C) Cardiovascular

D) Parkinson's

33) The fundamental attribution error appears to be somewhat less likely to occur among people in
~ cultures

'A) individualist

B) Eastern

C) Collectivist

D) no significant difference among cultures

|34) A patient who has become forgetful but has no problems in other areas of cognitive function may be
|said to have

'A) dementia

iB) mild cognitive impairment

|C) aphasia

D) delirium

35) A patient with thiamine deficiency who is forgetful but makes up memories and believes they are
real probably has

A) anterograde amnesia

B) Korsakoff’s syndrome

C) consciousness disturbances

D) confabulation

'36) All of the following disorders belong to obsessions, EXCEPT for which one?

A) repeated doubles

B) mental act

C) horrific impulses

!D) the need to have things in a certain order
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37) Negative symptoms of schizophrenia include the following?
A) flat affect

B) alogia

C) avolition

D) disorganized speech

38) Which is true for antipsychotic drugs?

A) increase the amount of serotonin

B) cause tardive dyskinesia

C) Is most often used to treat anxiety disorders
D) cures mood disorders

39) According to Ekman, which of the following is NOT one of the universal facial expressions?
A) sadness

B) anger

C) surprise

D) shame

40) According to cognitive theories, appraisal of the situation would come the physical arousal
and the experience of emotion.

A) before; after

B) after; before

C) before; before

D) after; after

41) The habituation technique operates on the premise that infants

A) Are able to discriminate their mother’s voice from other female voices
B) Cannot perceive depth

C) Enjoy looking at simple patterns

D) Prefer to look at new stimuli

42) Which of the following language milestones is the latest to occur?
A) Subtle pragmatics

B) Knowing about 10,000 words

C) Telegraphic speech

D) Understanding the rules of grammar

43) According to Erikson, if an elementary school child fails to succeed in developing a sense of
competence and ability to work with others, the result may be the development of a sense of

A) inferiority

B) stagnation

C) shame and doubt

D) role confusion

44) Research has found that some aspects of memory tend to become poorer during our later years, at
least partly because parts of the brain that produce the neurotransmitter become impaired
with age.

A) Serotonin

B) Acetylcholine

C) Gamma-aminobutyric acid (GABA)

D) Dopamine
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45) Grace, who is undergoing client-centered therapy, has been told that she experiences an
incongruence between her self and her self.

A) Conscious; unconscious

B) Past; future

C) Physical; mental

D) Real; ideal

46) Which behavior therapy technique is commonly used to treat anxiety disorders?
A) Interpretation

B) Free association

C) Dream analysis

D) Exposure

47) People’s attitudes are most likely to influence specific behaviors when the attitudes are
A) only moderately important

B) relatively stable

C) not relevant to the behavior

D) difficult to access from memory

48) Which one of the following activities will NOT reduce cognitive dissonance?
A) changing the behavior to match the attitude

B) continuing the behavior in spite of the conflicting thoughts

C) changing the thought to justify the behavior

D) developing new thoughts to justify the behavior

49) Which one of the following is not the characteristic of younger children ?
A) have shorter attention spans

B) understand fewer concepts about objects and events

C) grasp only simple concepts about relations between objects and events

D) grasp concepts from imagination

50) Tony, who is diagnosed autism spectrum disorder and which description is most proper to Tony?
A) Tony never make eye contact

B) Tony has a mental illness

C) Tony has a neurodevelopmental disorder

D) Tony don’t speak and cannot learn.
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